Pull of x for PV

Ratio

Pull of y for PV

Ratio

Pull of z for PV

Ratio

x [%]
L - Q
r 5 ks
1.8f E &
I e}
I~ (]
L o
1.6 Q
L =
i S
1.4 <
- 5
1.2F- 2
1=
0.8h : o o
| = =
L HE o @
0.95 ::2 : :::::3 bk || NN 2" i ,
10 0 1 10 10 0
$o. (GeV (Ge\})
i Id d IIl"UI II’IIaI|I|!I| lEj[«ll.llﬁbl.dl lIL,IVIDDVV J.LI' U OIbIbIIVI I V pIUI.IIJVIVI I I UIIgIIIdI_PU
— K- ﬂfgmﬁI ggf’w
2] >  2rTT o 2T
i - )
1 5 s
1afl- T 18 S 18
i B
I : o S
160} vef iy g 1e
I BE S
1 ae > 1.4
1.4H T 1.41 3 5
H 5
a o
1.2 E
il
LUy L B . o i=)
MIESHAREEAAE ] ]
AR A E 1T a4 14
1_ + 1 I -m-='=.
095 ::2" AR S S SIS
10 0
So. (GeV) %"pT (GeV)
2r T ~ g 2
L - o o r
3 5 5 18F
1.8 a > 7r
L 8 L
r o o
Lep E 14
L s I
r = T
1.4__. 5 1.2:
r D:I 1:—-
1.2 -
r 0.6F
1.U0 T 9 9 1.4
R | I 3
[ | 14 o 1.05H
0.95 ?1(32 Ll -ii03 0.9:5 10 LIRS 15
So. (GeV) L@'pY (GeV)




	Contents
	Page 1


